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(@) y = sin®(4x + 1).
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Ol sin?esine 4x + 1 z &l ) Jala Do ety dlge UGS i e e Al
y =sin*(4x + 1) = [sin(4x + 1)]?
b LS = A e A1) oa dEida sy fag oY,
y' =2[sin(4x + 1)]cox(4x + 1) x4
= 8cox(4x + 1).sin(4x + 1).

(b)y = tan®*(x? - 1).
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S
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s LS g A e Al oa diika slaly fas el
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Y= —5(1 + x%csex) (0 + x%. —cscxcotx + cscx. 2x)

_ =5(2xcsex — x%. cscxcotx)(1 4 x%escx) ™8,

(d)y = sin(tan®4x?),
o
e Jeandl AL 2208 i 415,

jl: cos(tar 4x?).2tan(4x?).sec?(4x*).8x
X

= 16xsec (4x?)tan(4x?)cos(tan®4x?).
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f(x) = cos’x
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f'(x) = 3cos?x. D{cos x} = 3cos?x(—sinx) = =3 sinxcos’x = 0
sinx=0 s cosx=0
s X € [0,2m] s M Jylsdl e sinx = 0 S 1
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1) y = cos(2x) + sin’ x 2) y = tan(sin x)
sin(3x)
. 3 . __ xsec(x)
5)y = cos” (tan(3x)) 6)y = St

= —sin(2x).(2) + 2sinx cos x = =2 sin(2x) + sin(2x) -
= —sin(2x).

2) y' = sec® (sinx)(cos x) = sec? (sin x) cos x.
3)y'(x)
(445 cos(2x))(cos(3x).(3)) — sin(3x) . (= 5sin(2x). (2))
- (4 + 5co0s(2x))?
12 cos(3x) + 15 cos(2x) cos(3x) + 10 sin(2x) sin(3x)
- (4 + 5cos(2x))? '
4)y'(x) = x * 2sec(nx) sec(nx) tan(mx) (m) + sec? (mx)

= 2nx sec? (nx) tan(mx) + sec? (mx)

= sec? (nx)[2nx tan(mx) + 1]. i
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